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f(x) = 3ax® + bx* + cx + 41, ‘(1) = 2,f"(1) = 4. Find a? + b? + 2.
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J ;:::z =ax+ Bén(3cosx + sinx) +y, where v is constant integration. Find

(W(osx-ﬂnx\:()@ (o$x+ SnX)
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A variable line passing through (3, 5) cut x & y axis. Find minimum area made
between axes and the given line.
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The remainder when (428)%924 js divided by 21 is
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The parabol4 y? = 4x|divides the area of the circle x? + y? = 5/in 2 parts. The
area of smaller part is equal to —
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ospcos(60 —0)cos(60+0) < %,‘9 € |0, Zn])Find the sum of value oor which

c0s30 is maximum. (§;
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Given system as

3x+4y+Az=4

S5x +,7y + 2z = M\%9

97x +197y +z M.

Find A + 3p, if the system has mﬂmte solutions.
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If the roots of equation x2 + 2y/2x - 1 = 0 are a and B. Find the equation whose
1
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A ray of light passing through P(1, 2) after reflecting on x-axis at point Q it
passes through R(3, 4). If §(h, k) is such that PQRS is a parallelogram, then find
the value of hk?2. 4N
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Ans =g , 2 e

X

Given f(x) =x*+9and g(x) = ™ Given a curve % % y? = 1, where@_f\og(la, b
= gof(3). Then find 8e? + [%, (where e = eccentricity: [ = latus rectum length)
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A triangle ABC is made of three vectors @,b and ¢. @, b and ¢ are (ai + 55+
4’12), (31 + 5j + 417) and d@ — b respectively. Area of AABC is given as 5V6. Fin a@
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A circle with centre (o, ) passes through point (0, 0) and (0, 1) and touches the
circle x? + y?= 9 for all possible values of (a, B). Find value of 4(a* + B“)"
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If a function f satisﬁed f(m + n)= f(m) + f(n)fforallm,n € N and |f(1) IJ
P fA+ k) < (2022)2.

then find the largest natural number A such that ),
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